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TF11H U 967 U¢F &
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e § @ 9 @ IR fwu H

gt # aftiferm TE # 7

(1) SSB (2) dna-A

(3) dna-B (4) dna-F

(5) I

CAAT 3R GC =f#a &

(1) Tg 2) I EH

(8) 31333; FAFA E-;) mg
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weeifian Iwmel % a fiemd
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Saccharomyces cerevisiae H S =0T
aﬁwﬂaﬂﬁﬁﬂ'ﬁﬂmwi,m
7 whFa d Sicl A Fn w1 2 7
(1) Sicl wdten e ufFded =
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agET e R | |
(2) Sicl T WO WRfRE-dEE |
Fiocra H THar 7, Gy F 3 7 |
Framu ufirpfel ) geaTa B UFATR | |
(3) Sic1 TS Ffafele-TEH T |
FEFE H THIH E | |
I
|

=1

(4) SA3ER TR Sicl F & A B,
Foa oA gyeteor SR & R |
(5) rgaia ¥

2

TF11H is the key component of

(1) Nucleotide Excision Repair of
DNA

(2) Base Excision Repair of DNA

(3) Mismatch Repair of DNA

(4) Double-strand breakage Repair
of DNA

(5) Question not attempted

Which of the following protein is
not involved in DNA replication ?
(1) SSB (2) dna-A

(3) dna-B (4) dna-F

(5) Question not attempted

CAAT and GC box are —

(1) Stop codons

(2) Promoter sequences

(3) Inhibitor sequences

(4) Operator sequences

(5) Question not attempted

Match the following RNA polymerase
with their transeribed product :

a. RNA polymerase-I i. tRNA
b. RNA polymerase-II ii. rRNA
¢. RNA polymerase-III iii. snRNA

N B e
() i in i1
2) i i

5 I - . |

(4) i i 1

(5) Question not attempted

How is the onset of S phase

controlled in Saccharomyces

cerevisiae, and what is the role of

Sicl in this process ?

(1) Sicl promotes DNA replication
by phosphorylating MCM
helicase activators.

(2) Sicl inhibits the S phase cyclin-
CDK complexes, preventing
DNA  replication initiation
until late G;.

(3) Sicl is a component of the SCF
ubiquitin-protein ligase complex.

(4) Sicl is degraded by proteasomes,
leading to the activation of
DNA synthesis.

(5) Question not attempted
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(3) GUU, GCU — t=if

(4) UAG, UGA - 5= (w)

(5) rgaifea w¥

9 6 (Pax 6) 99 9 =0 nfafafy &
FROUFTEAR ?

(1) %ga =1 fasmm 7 8 amn

(2) Ferfam fasrfia 2 & frweman

(3) Fmdfe fenfim B & fawera

(4) T8 () Ferenf 211 & freem

(5) Irwia W
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(1) srfir-eflas 2 (Tadeh)
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(3) e o

(4) UP-#=

(5) HATwTE e

Which one of the following pairs of
Codons is correctly matched with
their function or the signal for the

particular amino acid ?

EIJ AUG, ACG - Start / methionine
2) UUA, UCA - Leucine

(3) GUU, GCU - Alanine

(4) UAG, UGA - Stop

(5) Question not attempted

Reduced activity of Pax 6 gene
causes

(1) failure to develop heart

(2) failure to develop melanine
(8) failure to develop an iris
(4) failure to develop gonads
(6) Question not attempted

Which of the following statement

about the HMG-box-motif is not

true ?

(1) They are high mobility group
protein.

(2) They consists of three a (alpha)
helices.

(3) They activate transcription by
binding the DNA.

(4) They have leucine occurring as
every seventh amino acid.

(6) Question not attempted

Which of the following upstream
sequences controlling transecription
is called Goldberg-Hogness box ?
(1) GC box (2) TATA box

(8) Pribnove box (4) CAAT box

(5) Question not attempted

Where does the activating region of
CAP touch RNA polymerase when
activating the lac genes ?

(1) Amino-terminal domain (NTD)

(2) Carboxy-terminal domain (CTD)
(3) Flexible linker

(4) UP-element

(5) Question not attempted
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11.

121

13.

14.

Which of the following are

structural characteristics of mRNA ?

a. Non coding region 1isrich in A
and U.

b. Non coding region 2 has 50-150
nucleotides.

¢. Most of the RNA synthesized
during cleavage in Ovum is
mRNA.

d. In bacteria mRNA may be
short lived.

The most correct answer is :

(1) only a (2) only b

(3) a,c, d (4) a,b,c, d

(5) Question not attempted

In Eukarvotes which
following elongation factor 1is
required to deliver Aminoacyl
tRNAs to the ‘A’ site of Ribosomes ?
(1) EF-Tu

(2) EF-T

(3) EF-G

(4) eEFla

(5) Question not attempted

of the

During replication of a bacterial

chromosome, DNA synthesis starts

from a replication origin site and

(1) RNA primers are used

(2) is facilitated by telomerase

(3) moves in one direction of the
site

(4) moves in bidirectional way

(5) Question not attempted

The o (sigma) factor of RNA
polymerase enzyme takes part in
which of these functions ?
(1) Organize enzyme movement
(2) Recognize start signal on DNA
molecule
(3) Association of core enzyme unit
(4) Responsible for active sites of
RNA polymerase
(5) Question not attempted
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(1) H3K4 3 H3K36

(2) H3K9 3R H3B4

(3) H3K27 3t H3K29

(4) H3K20 3 H3K20
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AT 1 Wi F e % 6 i
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ot Fm s 2

(1) See D
(3) Sec C

(5) FwE 99

Sarl, Ran 3 Rab &
(1) FreErEEgeE

(2) FU.TA.d. (cCAMP)
(3) G WdR

(4) 5&1

(5) i@ W=

w FEE-tfee dammn R
foeiem 2
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(2) Sec A
(4) Sec B
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15.

186.

17.

18.

19.

In the lactose operon of

Escherichia coli promoter is the

site where

(1) Gyrase enzyme binds to DNA.

(2) RNA polymerase binds to DNA.

(3) RNA polymerase codes for
rRNA.

(4) Processing of messenger RNA
takes place.

(5) Question not attempted

Methylation of which of these is
associated with transcriptional
activation ?

(1) H3K4 and H3K36

(2) H3K9 and H3B4

(3) H3K27 and H3K29

(4) H3K20 and H3K20

(6) Question not attempted

In bacteria, the driving force for
translocation of protein comes from
cytosolic ATPase, known as
(1) See D (2) Sec A
(3) Sec C (4) Sec B
(6) Question not attempted

Sarl, Ran and Rab are

(1) Carbohydrates

(2) cAMP

(3) G proteins

(4) Lipids

(5) Question not attempted

An amino-acyl t-RNA synthetase is

responsible for

(1) joining an amino acid to a
t-RNA.

(2) attaching an amino acid group
to a carbonic acid.

(3) formation of peptide bond.

(4) attachment of nucleotide.

(6) Question not attempted
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20.

21.

22.

23.

24.

25.

What is the primary conseguence
of binding a specific extracellular

ligand to a Receptor protein-

tyrosine kinase (RTK) ?

%1} Receptor dimerization

2) Activation of GTP-binding
R]mtein_s

3) Nerve impulse generation

4) Hormone-regulated transcription

5) Question not attempted

In which type of signalling, the

messenger molecule after being

produced by a cell binds to the

receptors of the same cell ?

(1) Autocrine (2) Heterocrine

(3) Paracrine . (4) Endocrine

(5) Question not attempted

Which of the following is a class of
transmembrane adhesion receptor
proteins  that integrate the
extracellular and intracellular
rotein scaffolds ?
1) Integrins ﬁE} Cadherins
3) Fascicilin-II (4) Neuroglian
5) Question not attempted
Caspases contain which of these as
key residues in catalytic site ?
(1) Aspartic Acid (2) Lysine
(3) Cysteine (4) Methionine
(5) Question not attempted

Out of the following Heparan
sulphate proteoglycans which is an
integral membrane protein ?

(1) Perlecan

(2) Syndecans

(3) Agrin

(4) Type-XVIII collagen

(5) Question not attempted

In Lac operon of E. coli, the
structural gene Lac A code for
which of these enzyme ?

(1) p-galactosidase -

(2) B-galactose permease

(3) B-galactose transacetylase

(4) Peptidase

(5) Question not attempted
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27.

28.

29,

30.

31.
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26.

27.

28.

29,

30.

Which of the following is NOT a
tumour suppressor gene ?

(1) mye (2) p*

(3) RB (4) NF1

(5) Question not attempted

When the malignant tumour is
derived from endodermal or
ectodermal epithelium, it is called :
(1) Sarcoma (2) Carcinoma
(3) Lymphoma (4) Osteoma

(5) Question not attempted

What is the role of proapoptotic

members (Bax and Bak) in the

Bel-2 group ?

(1) They promote apoptosis.

(2) They protect cells from apoptosis.

(3) They inhibit BH3-only proteins.

(4) They inhibit antiapoptotic Bel-
2 members.

(5) Question not attempted

Which of the following messenger
molecule is derived from
Arachidonic acid ?

(1) Glycine (2) Epinephrine
(3) Eicosanoid (4) Dopamine
(5) Question not attempted

Migration of cancerous cells from
the site of origin to other part of
the body forming secondary tumors
is called :

(1) Diapedesis (2) Metastasis
(3) Proliferation (4) Apoptosis

(56) Question not attempted

What is the main function of

steroid hormone receptor in

cellular communication ?

(1) Activation of GTP-binding
froteins.

(2) lon conductance across the
membrane.

(3) Activation of enzyme for gene
regulation,

E-i) Conduction of nerve imcf;u]sea.
5) Question not attempte
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34,

35.
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In the development of Viagra nitric
oxide acts as a

(1) Secondary messenger

(2) Gaseous compound

(3) Primary messenger

(4) Cyclin inhibitor

(5) Question not attempted

Which class of cell adhesion
molecules is primarily responsible
for the maintenance of stable
junctions between adjacent cells in
the tissues ?

(1) Selectins

(2) Integrins

(3) Immunoglobulin (Ig) superfamily
(4) Cadherins

(5) Question not attempted

Which one of these is entirely
composed of an integral membrane
protein called “Connexin” ?

1) Tight Junction

2) Macula adherens

(3) Gap Junction

(_4; Zonula adherens

(5) Question not attempted

How many isoforms of TGFﬂ are
found in Human ?

(1) 2 %2] 1
(3) 4 4) 3

(5) Question not attempted

What is the term used for the
specialized region of the plant cell
wall that mediates adhesion
between plant cells ?

(1) Adherens junction

(2) Middle lamella

(3) Extracellular matrix

(4) Desmosome

(5) Question not attempted

In multicellular animals all the
diverse effects of cAMP are
mediated through

(1) Tyrosine Kinase (TK)

(2) Protein Kinase A (PKA)

(3) Polymerase-]

(4) Polymerase-III

(5) Question not attempted
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YIel-3iFhreiHl g T fu o wids

& v favma = 2 7

(1) W-wgrifes widE

(2) gfg-sratvm famfam e

(3) =TS TIUE WIEA

(4) 3f& =1 wgren & et feaferm i

(5) FgHfE W

it Fox S0 37 Tt w33

yhifFrm &l € Pes =mm ame

Hiferend s ¥ & 2t & 3 G, wor §

Y A E 7

(1) &G ae T &l & 3N 9a 8 et & |

(2) & 3= HIVH 9cd % Fad! wAl # |

(3) A Tea-Fonft Heam weftfa st & |

(4) 3 U= =HaRa F0 # genh =i
 fawef et 7 |

(5) FofE we

®H H1 Aise yearfad w2 fF Sy e

w1 F fou i safad 6

WIS B R 7

(1) =i firgra

(2) wH-fae wiget

(3) "edi-Tee wige

(4) =T Tfemea

(5) Fwfd W

| 38.

TaleFa FW F w06 B9 T e |

TRTEE 7

(1) vEHrETE

(2) &di| fmrerey I

(8) =m+ tfetmEEE (ve.d )
(4) FYerfen ff ag

(5) srgwi ¥

39.

40.

41.

Which group of proteins regulates
the activation of the intrinsic
apoptosis pathway ?

(1) Ras (2) Bel-2

(3) G-protein (4) NF-kB

(5) Question not attempted

What is a characteristic feature of
the proteins encoded by proto-
oncogenes ?

51; o-apoptotic proteins

2) Growth-inhibiting  signalling
roteins

233 heckﬁoint pathway proteins

4) Growth-promoting ~signalling
roteins

uestion not attempted

(5)

How do most cancer cells respond

to signals that cause normal cells

to cease proliferation and enter the

G stage ?

(19 They cease proliferating and
become quiescent.

(2) The continue growing to high
cell densities.

(3) They exhibit density-dependent
inhibition.

(4) They adhere to neighbouring
cells in an orderly array.

(5) Question not attempted

Which model proposes that
multiple mutations are required to
cause cancer 7

(1) Oncogene theory

(2) One-hit model

(3) Multi-hit model

(4) Carcinogen hypothesis
(5) Question not attempted

42. Which DNA virus is the cause of

cervical cancer ?

(1) Adenovirus

(2) Herpes Simplex virus

(3) Human Papillomavirus (HPV)
(4) Hepatitis B Virus

(6) Question not attempted




43.

44.

45.

46.

47.

i § FF 78 7 Wi %1 weivE ' |
AT R IS A HGE T 6 7 |

(1) SHeia
(3) Heergdi
(5) a5
P # & 7 1 79 w0 A R
& st o i Rigm # s
TEFAE 7

(2) ®fE=
(4) FeafRE

(1) APC (2) TP53

(3) RB (4) BRCA1

(5) SR ¥

g 7 e (SEETEE) %
o wr e =m s g 7

(1) wifewm w=

(2) iR ATHH

(3) S Fifmatt g wnfem gig Fre
(4) ST qT=A

(5) IwiA S

FifvrE 9% 8 92 “edks” Fr= # | e
A Imm I e 7

(1) TETH ITEFT

(2) asfaeE

(3) wrsfaee feifd= wam

(4) cdk-umEfa S

(5) FgTIA ¥H

frefefiaa & 8 19 @ gHfafes wda
E-FIETE § AU, WIS 3 iefmta-1
HI g R 7

(1) RPA

(2) FEN-1 weHIffauas

(3) PCNA

(4) RFC

(5) FFHiE 9

43‘

44.

46.

|
|
| 47.
|
|
|
|
|
|
|
10

Which of these help prevent
premature, incorrect folding of
newly made protein ?

(1) Calponin (2) Fascin
(3) Phalloidin  (4) Calnexin
(5) Question not attempted

The absence of which of the
following tumor suppressing gene
can cause ‘Lifraumeni’ syndrome ?

(1) APC (2) TP53
(3) RB (4) BRCA1
(5) Question not attempted

What stimulates the formation of

new blood vessels (angiogenesis) in

tumors ?

(1) Protease secretion

(2) Cell adhesion

(3) Growth factors secreted by
cancer cells

(4) Collagen digestion

(5) Question not attempted

In cell eyecle term “cdks” is used for
which of the following ?

(1) Kinase sub unit

(2) Cyelin

(3) Cyeclin dependent Kinases
(4) cdk-cyclin complex

(5) Question not attempted

Which of the following Eukaryotic
protein remove RNA primers and
polymerase-I of E. coli ?

(1) RPA

(2) FEN-1 endonucleases
(3) PCNA

(4) RFC

(5) Question not attempted
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48.

49,

50.

a1.

52.

52

i oA, % feedn gadE §
A F A T #Y w2 F o waw
& gmfe & e § @ frgs A
IyETE fFar S 2 7

(1) EDTA

(2) TFAe-swend afty

(3) He-aEFeReE

(4) ug.9.uH.

(6) sFgafaye

HEd s aFAE 0 9w § DNA &=
T Tey 1 fagd 8 o #

(1) st faeas & gga & |

(2) el foeam H1 aeman & |

(3) am 6t mEEaT & |

(4) Fer foeaa 5 wemar 3 | |

(5) IFmia wed

= 4 aw swm ww sfysey
s & 7 o s @ 7

(1) =ImF@ (2) R

(3) wwfimT (4) AEZRTT
(5) ¥FwiE v

FeRfsam s awdE § FHww F
HIIET § INTET B T T * ol
19 | ATZEIE HTH H forgn I 7
(1) °H (2) *H grafida

(3) *H #r& (4) 3H wE

(5) eIt S {

_ | 52. Which of the following microscopy
HIEGF HIFHH B F B THE F |

= % 3 #F @ aEewd -

wehiolq ox i & 2
(1) erhikes argsRrERdl
(2) % HIgERIRT

(4) ToIaT AR
(5) FgwhE w

11

l
i
(3) FETHGH ATt !
i

48.

49,

50.

al.

In isolation technique, the Genomic
DNA contaminating proteins are
removed by treatment of tissue
homogenate with which of the
following ?

(1) EDTA

(2) Phenol-chloroform mix

(3) B-mercaptoethanol

(4) SDS

(5) Question not attempted

In Southern blotting technique
DNA bands in the gel are
denatured into single strands with
the help of

(1) an alkali solution

(2) an acidic solution

(3) resin

(4) neutral solution

(5) Question not attempted

Which of the following is NOT used
as an adsorbent in column
chromatography ?

(1) Charcoal (2) Silica gel

(3) Alumina (4) Nitrocellulose
(6) Question not attempted

In autoradiography technique,
which of the following isotope is
used to study DNA metabolism of a
cell ?

(1) *H (2) H thymidine
(3) ®*H mannose (4) *H fucose

(5) Question not attempted

is based on scattering of light due
different refractive indexes ?

(1) Darkfield microscopy
(2) Phase microscopy

(3) Interference microscopy
(4) Electron microscopy

(5) Question not attempted



53.

54.

55.

EE‘.

57.

58.

ifge e &9 (100 X) i i
TR g 2

(1) 0.65 (2) 0.85

(3) 58 (4) 133

(5) e W

dyrevEeer  (FegEkeE) # e
foergs % uge ¥ SRS HU H

T fFeR ayE H A R 7
(1) gehEEE (2)

(3) WIS o (4)
(5) i S
e e it moen & fg g @

E(I -] (2} ’ E{Ib—;f}z

N
E{x X) ZE-F) o= (x-%)°
2N

|l

(Do =

(3)o=

(5) m'fmﬂm

Mg R Rm AT E R
(1) wreag s Em e |

(2) wraEy Ftfes a2 |

(3) FEEEN YT B 8 |

(4) FEFEY FOTHS BATE |

(5) FTA 9

e s fF e & fo
T THA & —
(1) GISH

(3) ELISA

(5) it ¥

o # %1 B goredl wam fogi W wE
FAE 7

(2) FISH
(4) RIA

53.

54.

55.

56.

57.

|
|
| 58.

-

Numerical aperture value of oil
immersion lens (100 X) is

(1) 0.65 (2) 0.85
(3) 58 (4) 133
(5) Question not attempted

In “electrophoresis” migration of
colloidal q:.lrtmlea through a
solution es place under the
influence of —

1) Magnetic field

2) Gravitational force

3) Cohesion force

4) Electrical field
5) Question not attempted
The formula for calculating

standard deviation is:

[ztx A

N (2)o=

Z(x-¥) = ’E{x—.ﬂ2
i 2N

) o= y7oN
(5) Question not attempted

N(x-%)*

If the values of two variables vary
in the same direction

(1) The correlation is linear

(2) The correlation is non-linear

(3) The correlation is positive

(4) The correlation is negative

() Question not attempted

For Karyotyping and gene
localisation, the technique used is —
(1) GISH (2) FISH

(3) ELISA (4) RIA

(5) Question not attempted

Which of the following microscopes
work on a similar principle ?

a. Phase contrast microscope
b. Darkfield microscope
¢. Compound microscope
d. Interference microscope
The correct answer is :
(1) a, c (2) b, c
{3} a, d {4} c, d
(5) Question not attempted
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59‘

60.

61.

62.

63.

52

DNA #, Hiefen s &

(1) m i

(2) 38T

(3) wTEHIITER

(4) 8180 (EDTA)
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(3) 9 9 W HeW-FeAM qE & w9 °
} feadza & |

(4

q % wferedi & |
(5) m

wife® iR siwa 3 fie $fm e
(YACs) % fasm # == wifge fea 7
(l}aéiaﬂﬁﬁﬁﬁmaﬁwﬁg%m
e e
@ ] |
(8) I8 fre Teiite &1 T w0k
HUgA1 61 A% h |

() = g 4 4w &I
s Tt

|
(5) Fgeiee e
ST
a1 #AN mRNAs =5
welila st awd 2 7
(1) ¥ wifen E

(2) Tt yaedy

(3) fa-mard I SymwvEae
(4) St ArEsRI

(5) FFiE

cDNA st ufafafas w2

(1) it % & TrgEa DNA %7 |
(2) Toreft fome =ifiremt @1 sa & fafie

ﬁ'—g‘ﬂr{aﬁﬁmRNﬂ'ﬂl

(38) ffa % & TorgEta RNA #1 |

(4) forelt fomi S o1 wow & Faw
tRNA =7 |

(5) I 59

|
|
|
|
|
|
}
|
|
|
|
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59. The chelating agent used in DNA . -

60.

Eli

62,

63.

1solation is —

(1) Chloroform (2) Ethanol

(3) Lysozyme (4) EDTA

(5) Question not attempted

Why are rRNA molecules often
used as indicators of intact RNA

during agarose gel electrophoresis -

analysis ?

(1) They are the smallest RNA
molecules.

(2) They are the most stable RNA
molecules.

(3) The appear as discrete bands
on the gel.

(4) They are
denaturation.

(5) Question not attempted

What did Szostak & Blackburn

accomplish in the development of

Yeast Artificial Chromosomes

(YACs) ?

(1) The cloned yeast centromeres
into plasmid vectors.

(2) They introduced circular DNA
molecules.

(3) They mimicked

resistant to

chromosome

structure by cloning yeast
telomeres.
(4) They replicated yeast

chromosomes in vitro.
(5) Question not attempted
Which technique can display the
entire complement of mRNAs
present in a given cell type or organ ?
(1) Western blotting
(2) PCR amplification
(3) Two-dimensional gel
electrophoresis
(4) DNA microarrays
(5) Question not attempted

cDNA library represents —
(1) total chromosomal DNA of an
organism.

(2) only the mRNA from a particular
~ cell or tissue at a specific point.
(3) total chromosomal RNA of an

organism.
(4) only the tRNA from a
particular cell or tissue,
(5) Question not attempted




64.

65.

66.

67.

68.

EB‘

f1  frg A 3 g om0 deAe | 64, Identification of a single base

; fmi qEeH mismatch in the known DNA
mﬁ%ﬁgﬁ?ﬁ( ) a sequence of a gene can be

(1) BT e & 7 tdEtll:;ﬂEd" by which of these

4.1, ec es

(2) HTE SRS En DNA sequencing

(8) .=, (g l};ﬁéﬁs spectrometry

(4) FRREEIRF % 0 ST (THR) 1 o

(5) a5 (4 Se?élr?:mir ;J}T hybridization

g & @ @9 = FFAfETEs (5) Question not attempted

HarEs & 91 E. coli % firdg 2 a3t | 65- Which of the following is

ﬁaﬁ@'ﬂﬂ; %ﬂz[g‘!.q:rq_ Hﬂ-ﬁ"ﬁﬂa 7 ﬁlan:!.entﬂus bﬂmmljhag? \F-a:t{)r
(1) M13 D EMBLS | e DNA melsenle T
(3) Charon 34  (4) Phage-mid () M13 & EMBL 3

(5) A W 3) Charon 34 (4) Phage-mid

(5) Question not attempted

T iR SdE GETEH # 39 WA | g6, Which one of the following is used

¥ w4 Frefufgs 3§ @ femm sw@m | as a source of excitatign in a

frnama® ? confocal microscope fluorescence ?

(1) S H (2) FelwgHE I (1) Laser (2) Electron

(3) wHO A w  (4) 4 F WH (3) Mercury lamp (4) Sun light

(5) I=E 9 (5) Question not attempted

sae fer U @ wu H g | 67. Labelled ¢cDNA are used as probes

A FEE 6 I TS FTEAT to screen for complementary

wife #q o % =9 ° wam g e sequences among recombinant

e 390 clones because they

(1) AT (2 ﬁ‘hﬁﬁﬁ (1) lackintrons (2) have introns

(3) TR AE B (4) HEAtE T8 B (3) lack exon (4) lack cytosin

(5) HITE 7 t (5) Question not attempted

DRI § sd § 9 w®gae %1 | 68. Why is the ‘cuvette’ made up of

T R R ST R 7 quartz used in spectrophotometer ?

(1) T8 SR 2 | (1) It is unbreakable.

(2) 78 AT W w1 SEEiNG T8 | (2) It does not absorb ultraviolet
FEAE | light.

(3) ag Ui FE B R | ﬁ(&] It is not transparent.

(4) FH=1 FqEATH ATGH BT E | (4) It has higher refractive index.

(5) Frgefa s (6) Question not attempted

I
|
I
I
g fafeas wmemh # fRr ween - | 69. The stationary phase in gas-liquid
=1fEa l chromatography must be :
(1) avsqufer auT Sl | (1) Volatile and Unstable

(2) srEmIEet 7 AR I (2) Non-Volatile and Thermostable
(3) amasfiet e A aTfER ] (3) Volatile and Thermounstable
(4) TG AT ATISER (4) Non-Volatile and Thermounstable
(5) Wﬁﬁ T | (5) Question not attempted
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70.

71.

72,

73.

74.
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(1) FeREd Tt

70.

71.

72.

13'

f
|
|
|
f 74.
|
|

|
|
|

Extraction of annmic DNA

Cut into fragments of various sizes
by using restriction enzyme

Fragments are later introduced
into cloning vectors

e

Generate population of chimeric
vector molecules

Above sequence.is related to which
of the following ?

1) eDNA library preparation

2; Colony hybridization

3) Formation of genomic library

by shot gun experiment.
4) mosome walking
5) Question not attempted

Which of the following is used for

quantitative analysis of DNA

binding protein ?

(1) In situ hybridization

(2) Electrn:)ﬁhcretic Mobility Shift
Assay (EMSA)

(3) 2-Aminothiophenol based
fluorometric assay

(4) Resorcinol based fluorometric
assay

(5) Question not attempted

The value of Chi-square (42) cannot be

(1) Zero (2) Infinity

(3) Negative (4) Positive

(5) Question not attempted

Urea is used as a dissociating

agent in polyacrylamide gel

electrophoresis. It disrupts

(1) Peptide bond

(2) Disulphide bond

(3) Hydrogen bond

(4) Phosphate bond

(5) Question not attempted

FRET stands for :

(1) Fluorescence Refraction
Energy Transfer

(2) Fluorescence Resonance
Energy Transfer

(3) Fluorescence Resonance

Electron Transfer

Fluorescence Reflection Energy
Transfer

(5) Question not attempted

(4)




75.
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77.
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76.

T?i

Which of the following statements
about transmission Electron
Microscope is correct ?

(1) The electron beam is focused
by the condenser lenses to
simultaneously illuminate the
entire viewing field.

(2) The electrons are accelerated as a
fine beam that scan the specimen.

(3) The image is formed by
electrons that are reflected
back from specimen.

(4) Image formation is indirect.

(5) Question not attempted

Match the given yeast plasmids

with their characteristic features :

Plasmid Characters

a. YEp i it functions as true

chromosomes and
segregate  during
Mitosis and Meiosis

b. Ylp ii, it carries both

centromere and

telomere sequence
it carries 2u DNA
sequence
influencing the
origin of replication

iv. it allows trans-
formation by
crossing over and
have no replication
origin

Choose the correct option :

a "b e d

e. YCp il

d. pYAC

(1) 1 v id 'R
()i i iv it
8) iii iv f i

(i B W

%}) Question not attempted
AE stands for :

(1) Capillary Addition

}éhnr_esm \
Eﬂ; yelic Auto Electrophoresis
3) Computer
&)

Electro-

Assisted Electro-
horesis

apillary Array Electrophoresis
Question not attempte
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78.

79.

80.

Sl'

The “Pigmy  Conifers”
distinctive of —

(1) Pinon - Juniper Biome

(2) Tropical Rain Forest Biome
(3) Chaparral Biome

(4) Desert Biome

(5) Question not attempted

Match the following :
Type of
Interaction

are

General
result of
Interaction
i. Protocooperation a. Obligation

for one,
other not
affected
Obligatory
for one,
other
deprived
Interaction
favourable
to both but
not
obligatory
Interaction
obligatory
for both

i1, Mutualism b.

iii. Parasitism c.

iv. Commensalism d.

i ol e
d 1 hibeon
b e &
(3) & & e
(4) d a b
(5) Question not attempted

The headquarters of National
Biodiversity  Authority (NBA)
situated in -

(1) Bangalore (2) Pune

(3) Delhi (4) Chennai
(5) Question not attempted

(1)
(2)

(o R == PR e B

In age pyramid, broader base

demonstrates

(1) increased number of juveniles

(2) decreased number of juveniles

(3) increased number of old aged
individuals

(4) decreased number of middle
aged individuals

(5) Question not attempted
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82,

83.

84,

85.

What term is used to describe
organisms that remove and recycle
the dead bodies and waste
roducts of others ?

Herbivores
2) Decomposers
3) Producers
4) Primary Consumers
5) Question not attempted

What is  the purpose of
biostimulation in the context of
bioremediation ?
(1) Addition
standardized bacteria to an area.

(2) Injection of air and nutrients
into the saturated zone,

(3) Mixing contaminated soil with
organic materials,

(4) Modification of
environment to
existing bacteria.

(5) Question not attempted

Why is the activity of heterotrophic

organisms crucial in a community ?

(1) They produce energy through
photosynthesis.

(2) They maintain nutrient cycling
and productivity,

(3) They store carbon compounds
for future use.

(4) They regulate water content in
living matter,

(5) Question not attempted

How does migration differ from

emigration and immigration ?

(1) Migration is a one-way
movement, while emigration
and immigration involve a
round-trip.

(2) Migration involves long-range
movements, while emigration
and immigration are short-range.

(3) Migration is only seasonal, while
emigration and immigration can
occur daily or seasonally.

(4) Migration is a round-trip
movement, while emigration
and immigration involve one-
way trips.

(5) Question not attempted

the
stimulate
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Which vear the Gangetic dolphin
was declared as the National
Aquatic Animal of India ?

(1) 2003 (2) 2006

(3) 2009 (4) 2011

(5) Question not attempted

Ramgarh Vishdhari Wild Life
Sanctuary is situated at —

(1) Jaipur (2) Dholpur

(3) Bundi (4) Alwar

(5) Question not attempted

Which of the following is not a
heavy metal water pollutant s

(1) Mercury (2) Lead

(3) Cadmium (4) Iron

(5) Question not attempted

- T Pi log Pi shows

(1) Index of Dominance of Species

(2) Index of similarity(ies) between
two sample species

(3) Evenness Index

(4) Shanon Index of
diversity

(5) Question not attempted

general

What defines a metapopulation in

a fragmented landscape ?

(1) A single, large population
occupying various patches.

(2) Several independent populations
in different patches that
mutually affect one another.

(3) A series of small populations
without any interconnection.

(4) A dispersed population with no
exchange between patches.

(6) Question not attempted

91. What is the term used to describe

the range of physical and chemical
conditions under which a species
can survive and reproduce, as well
as the essential resources it utilizes ?
(1) Biotic balance

(2) Ecological niche

(3) Environmental spectrum
(4) Species adaptation

(5) Question not attempted
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93.

94.

95.

[ 92. What do we measure by Eh scale ?

(1) ‘redox potential’

(2) ‘depth of sea’

(3) ‘proton activity’

(4) ‘relative humidity’

(3) Question not attempted

The term “Forb” represents which
one of the following ?

(1) Short grasses (blue grama,
Cheat grass etc)

(2) Mid grasses (Stipa, June,
Indian rice grass)

(3) Non-grassy herbs (composites,
legumes etc)

(4) Orchids

(5) Question not attempted

In community periodicity, what
does serotinal mean ?

(1) Winter

(2) Late spring

(3) Late summer

(4) Early summer

(5) Question not attempted

Which of the following bacteria
have ability to remove radioactive
materials as uranium, thorium &
radium from the industry effluent ?
(1) Thiobacillus and Acinetobactor
(2) Pseudomonas, Arthrobactor

(3) Rhizopus, Penicillium

(4) Thiobacillus, Pseudomonas

(5) Question not attempted

Based on mode of life, organisms
attached or resting on the bottom
or living in the bottom sediments
in fresh water are called
(1) Neuston (2) Nekton
(3) Periphyton (4) Benthos
(5) Question not attempted
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Vagility is the

(1) capacity to wage a fight with
the member of same species.

(2) capacity to wage a fight with
the member of different species.

(3) inherent power of movement of
individual.

(4) capacity of an animal to
reproduce.

(5) Question not attempted

What are Hope Spots ?

(1) An area of the ocean that
merits special preservation of
underwater ecosystems.

(2) Are world's last refuge where
high number of threatened
species still persist.

(3) It must have atleast 1500
vascular plants as endemics.

(4) Himalayas, Western ghats and
Sri Lanka are the part of it.

(5) Question not attempted

Regions that faces serious threat
from human activities, contain
high species diversity, endemic
species and endangered species is
called :

(1) Biodiversity hot spots
(2) Peninsular sub region
(3) Endangered fauna

(4) Biogeographic zone

(5) Question not attempted

Difference in closely related species
which are often accentuatéd in
sympatry and weakened in
allopatry by an evolutionary process
or phenomenon is known as :

(1) Factor compensation

(2) Character displacement

(3) Factor interaction

(4) Competitive exclusion

(5) Question not attempted
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103. Which of the

105. In

101. In which of the biomes, the soil

contains large amount of Humus ?
(1) Desert

(2) Grassland

(3) Coniferous forest

(4) Deciduous forest

(5) Question not attempted

102. Which of the following is NOT an

example of glycosaminoglycans ?
(1) Keratan sulphate

(2) Heparin

(3) Lecithins

(4) Hyaluronic acid

(5) Question not attempted

following
Lymphokines is NOT secreted by
the helper T cells ?

(1) Interleukin-3 (2) Interleukin-2
(3) Interleukin-6 (4) Interleukin-1
(5) Question not attempted

104. The partial pressure of oxygen in

the alveolar air is

(1) 20mm Hg  (2) 40 mm Hg
(3) 104 mm Hg (4) 569 mm Hg
(5) Question not attempted

Gastrointestinal tract

“Meissner’s plexus” is present in

(1) between longitudinal and
circular muscle layer

(2) Mucosa

(3) Sub mucosa

(4) Serosa

(5) Question not attempted

106. Which of these iz a sedimentary

type of biogeochemical cycle ?

1) Carbon mono oxide cycle
2) Nitrogen cycle

(3) Sulphur cycle
(4) Carbon cycle
(5) Question not attempted
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107. Which of the following statements

regarding the  secretion of

Aldosterone is correct ?

(1) It is secreted by the zona
faciculata.

(2) It is secreted by zona
recticularis.

(3) The regulation of its secretion
is dependent on cortisol and
androgens.

(4) Increased activity of the renin-
angiotensin  system g'reatly
increases its secretion.

(5) Question not attempted

major end product of
progesterone degradation 1s

(1) Cholesterol

(2) Pregnanediol

(3) Acetyl coenzyme A

(4) Estrone

(5) Question not attempted

. In a healthy person which of the

following is freely filtered at
glomerular capillaries but is not
excreted into the urine ?

(1) Urea (2) Creatinine
(3) Glucose (4) Water

(56) Question not attempted

. How many atoms of oxygen can be

transported by the haemoglobin
molecule ?

(1) 2 (2) 3
(3) 4 (4) 8
(5) Question not attempted

Hormone cholecystokinin is
released from which cells ?

(1) Scells

(2) I cells

(3) o (A) cells

(4) B (B) cells

(5) Question not attempted
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112. What is the net gain of ATP
molecules for each mole of glucose
utilized in glycolysis ?

(1) 4 moles (2) 2 moles
(3) 6 moles (4) 8 moles
(5) Question not attempted

113. What is the process called when
deaminated alanine is converted
into pyruvie acid, which can be
further converted into either
lucose or glycogen ?

?1} Glycolysis

(2) Gluconeogenesis

(3) Ketogenesis

(4) Citric acid cycle

(5) Question not attempted

114. What is the role of the
sarcoplasmic reticulum in skeletal
muscle ?

(1) Synthesis of titin molecules.

(2) Energy production for muscle
contraction,

(3) Maintenance of intracellular
fluid balance,

(4) Control of muscle contraction.

(5) Question not attempted

What is the main excitatory

neurotransmitter in the brain and

spinal cord ?

(1) Dopamine

(2) GABA (Gamma-aminobutyric
acid)

(3) Glutamate

(4) Serotonin

(5) Question not attempted

115.

In smooth muscles, Ca™ is released
from sarcoplasmic reticulum due to
activation of which of these
receptors ?

(1) DHP receptor

(2) IP, receptor

(3) Nicotinic receptor

(4) Muscarinic receptor

(5) Question not attempted
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117.

118.

119.

120.

121.

122.

123.

The precursors of ketobodies in the
liver are —

(1) Free fatty acids

(2) Free excess protein

(3) Free excess carbohydrates

(4) Free excess minerals

(5) Question not attempted

Polypeptide inhibin is secreted
from which part of seminiferous
tubule ?

gl) Leydig cell

2) Basal lamina

(3) Late spermatidgonia

(4) Sertoli cells

(5) Question not attempted

When do spermatogonia begin to
undergo mitotic division ?

(1) Childhood (2) Adolescence
(3) Adulthood (4) Old Age

(5) Question not attempted

Major metabolic pathway of kidney is
(1) B-Oxidation

(2) Gluconeogenesis

(3) Glycolysis

(4) Ketogenesis

(5) Question not attempted

Which of the following
Hemoprotein ?

(1) Cytochrome oxidase

(2) Flavin adenine dinucleotide
[3; Xanthine oxidase

(4) NADP-linked dehydrogenase
(5) Question not attempted

Which  hypothalamic hormone

causes the inhibition of prolactin

secretion 7

(1) Growth hormone-releasing
hormone (GHRH)

(2) Prolactin inhibitory hormone

is

G
(3) Corticotropin-releasing hormone
(CRH)
(4) Gonadotropin-releasing
hormone (GnRh)
(5) Question not attempted
Which of the following is a part of
ventricular diastole in cardiac cycle ?
(1) Isovolumetric contraction phase
(2) First rapid filling phase
(3) Slow ejection phase
(4) Diastasis
(5) Question not attempted
(=]
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126. Which polypeptide

l 124, Match the following :

a. Trioses i. Glucose

b. Tetroses il. Glycerose

¢. Pentoses iii. Ribose

d. Hexoses 1v. Erythrose
a b e''d

0 U5 L R R

2) i v W i

B 1 W v i

(4) iv. i i i
(5) Question not attempted

125. Which of the following is not a

function performed by the Pineal
gland ?

(1) Enhancing sex

(2) Promoting sleep

(3) Enhancing mood

(4) Lactation

(5) Question not attempted
hormone is
secreted from parafollicular cells of
thyroid gland ?

(1) Tyroxine

(2) Calecitonin

(8) Calcitonin gene related peptide
(4) Peptide YY

(5) Question not attempted

127. Deficiency of which of the following

hormones results in

a. enhanced osteoclastic activity

b. low calcium deposition in bone

¢. loss of bone matrix

(1) Letuinizing hormone (LH)

(2) Follicular Stimulating Hormone
(FSH)

(3) Oestrogen

(4) Progesterone

(5) Question not attempted
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130. What is

128. What is the role of mesangial cells

in the glomerulus ?

(1) Secrete extracellular matrix.

(2) Form filtration slits.

(3) Close membrane gaps in the
basal lamina.

(4) Assist in capillary
contraction.

(5) Question not attempted

wall

129. Chief cells and oxyphil cells are

found in which of these glands ?
(1) Parathyroid (2) Thyroid
(3) Pituitary (4) Pineal

(5) Question not attempted

excitation-contraction

coupling in muscle physiology ?

(1) Relaxation of muscles after
contraction.

(2) Mechanism of  muscle
contraction in response to an
action potential.

(3) Transmission of
impulses to muscle fibres.

(4) Muscle fatigue process.

(5) Question not attempted

nerve

131. Three parts of the diaphragm are —

(1) Superior, middle and inferior

(2) Costal, Crural and Central
tendon

(3) Right, Left and Central

(4) Anterior, Posterior and Lateral

(5) Question not attempted

132. What are the three interconnected

regions of airflow in the
respiratory system ?

(1) Nasal cavity,

larynx

(2) Upper airway, conducting
airway and alveolar airway

(8) Olfactory system, conducting
airway and parenchyma

(4) Trachea, bronchi and alveoli

(5) Question not attempted

pharynx and
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133. What is the function of oxytocin ?

(1) Controls the rate of water
excretion.

(2) Promotes mammary gland
development.

(3) Controls the secretion of
adrenocortical hormones,

(4) Helps in release of milk from
the mammary glands during
suckling.

(5) Question not attempted

The correct value of the
Filtration Pressure is :
(1) + 10 mm Hg (2) — 10 mm Hg
(8) + 18 mm Hg (4) — 18 mm Hg
(5) Question not attempted

134. Net

The factors that determine how
rapidly a gas will pass through the
respiratory membrane are given
below.

Identify the wrong one :

g; The thickness of the membrane.

135.

The surface of the

membrane,

(3) The diffusion coefficient of the
gas in the substance of the
membrane.

(4) The transpulmonary pressure
of the gas between the two
sides of the membrane.

(5) Question not attempted

Which isomer of  glucose

specifically binds to SGLT-2 in the

kidneys ?

(1) D-glucose

(2) L-glucose

(3) Fructose

(4) Mannose

(5) Question not attempted

area

136.

137. The ions responsible for the release
of acetylcholine by the nerve
terminals is

{1 K (2) Na*

(3) Ca™* (4) H*

(5) Question not attempted
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139.

140.

141.

142,

Which  statement is  correct

regarding the meiotic division ?

(1) There are two_cycles of DNA
reﬂhc_at_iﬂn and two cycles of
cell division.

(2) There is one cycle of DNA
replication and one cycle of cell
division.

(3) There is one cycle of DNA
replication and two cycles of
cell division.

(4) There are two cycles of DNA
replication and one cycle of cell
division.

(5) Question not attempted

Lysosome were first observed

under Electron Microscope as

dense bodies. These were initially
named as

(1) Endosome

(2) Microsome

(3) Microbodies

(4) Pericanalicular bodies

(5) Question not attempted

The phases of cell cycle

i. Pre DNA synthetic period

ii. DNA synthetic period

iii. Post DNA synthetic period

are included in which of the
following stages of cell divisions ?
(1) Metaphase (2) Prophase

(3) Anaphase (4) Interphase
(5) Question not attempted

Where is Cardiolipin
(diphosphatidylglycerol) found in
mitochondria ?

(1) Inner membrane

(2) Outer membrane

(3) Inter membrane space

(4) Matrix

(5) Question not attempted

Major post translational
modification and folding of

secretory protein takes place in —
(1) Nucleus

(2) Mitochondria

(3) Lysosome

(4) Endoplasmic reticulum

(5) Question not attempted
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143.

144,

145.

146.

147

143!

Which of the following is not a
peripheral protein of plasma

membrane ?
(1) Spectrin (2) Amykrin
(8) Actin (4) Glyeophorin ‘A’

(5) Question not attempted

Which one of the following four
classes of ATP powered pump
transport smaller molecules like
Amino Acids and Sugars across the
plasma membrane ?

(1) P Class

(2) V Class

(3) F Class

(4) ABC Superfamily

(5) Question not attempted

Which of these factors is

responsible for fluidity of lipid

bilayer in the plasma membrane ?

(1) Stability of membrane

(2) Temperature and composition

(3) Movement of proteins

(4) Thickness and arrangement of
layers

(5) Question not attempted

The ratio of Na* : K* pumped by
the Na*/K* — ATPase is

(1) 2:1 (2) 1:2

(3) 2:2 (4) 3:2

(5) Question not attempted

The tertiary structure of tRNA is
(1) L shaped

(2) Cloverleaf shaped

(8) T shaped

(4) Circular

(5) Question not attempted
During which of these phases of
cell cycle does cell synthesize
additional histone ?

(1) G, phase (2) G, phase

(3) S phase (4) G, phase

(5) Question not attempted
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150.

149. What is the role of Mismatch

repair in DNA damage repair and
tolerance systems ?

(1) Corrects errors in DNA
replication by recognizing and
repairing mismatches.

(2) Uses light energy to repair
pyrimidine dimers caused by
UV radiation.

(3) Removes damaged = bases,
creating an abasic site, which
is then repaired.

(4) Repairs breaks in both strands
of the DNA double helix.

(5) Question not attempted

What is the difference in the
number of Open Reading Frames
(ORFs) between eukaryotic and
prokaryotic mRNAs ?

(1) Eukaryotic = mRNAs often
contain multiple ORFs, while
prokaryotic mRNAs typically

have a single ORF.

(2) Both -eukaryotic and
prokaryotic mRNAs always
contain a single ORF.

(3) Prokaryotic mRNAs often

contain multiple ORFs, while

eukaryotic mRNAs typically
have a single ORF.
(4) Both eukaryotic and

prokaryotic mRNAs frequently
contain two or more ORFs.

(5) Question not attempted
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